

NEPTUNE CAMPUS, NEAR ATLANTIS HEIGHTS, DR.VIKRAM SARABHAI MARG, VADIWADI, VADODARA,GUJARAT, 390007 Ph.No.: 0265-2350630/39 Website: www.neptunerealtygroup.com

WORK ORDER

WO No. 66 SHIP TO:

WO Date: 12/03/2024 NEPTUNE REALTY PVT. LTD.

Contractor Name TARSONS ENTERPRISE NEPTUNE OBELISK EXP

Address: NEAR PANCHVATI B-18, SHREEHARI

TENAMENT, GORWA - VADODARA-390016

Contact No WO Title

PAN:

GST: GST No: 24AAACN9837D1ZI Gujarat

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

Sr.No	Item Description	Qty	Unit	Rate Rs.	Amount	GST 9	%
1	GROUND FLOOR SHOP NO 01						
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	%
2	GROUND FLOOR SHOP NO 01						
	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	%
3	GROUND FLOOR SHOP NO 01						
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	%
4	GROUND FLOOR SHOP NO 02						
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	%
5	GROUND FLOOR SHOP NO 02						
	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	%
6	GROUND FLOOR SHOP NO 02						
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	%
7	GROUND FLOOR SHOP NO 03						
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	%
8	GROUND FLOOR SHOP NO 03						
	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	%
9	GROUND FLOOR SHOP NO 03						
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	%
10	GROUND FLOOR SHOP NO 04						
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	%
11	GROUND FLOOR SHOP NO 04						
	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	%
12	GROUND FLOOR SHOP NO 04						
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	%

3	1ST FLOOR SHOP NO 01 WATERPROOFING						
	WORK				0.400.00		
4	LABOR FOR BBCC (NOS)	2.00	NOS	1200.00	2400.00	18	_
†	1ST FLOOR SHOP NO 01 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	70.95	RFT	21.20	1504.14	18	-
5	1ST FLOOR SHOP NO 01 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	402.47	SQFT	40.85	16441.06	18	-
5	1ST FLOOR SHOP NO 02 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	-
7	1ST FLOOR SHOP NO 02 WATERPROOFING WORK						
_	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	-
8	1ST FLOOR SHOP NO 02 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	-
9	1ST FLOOR SHOP NO 03 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	-
.0	1ST FLOOR SHOP NO 03 WATERPROOFING WORK	20.44			, and an		
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	-
1	1ST FLOOR SHOP NO 03 WATERPROOFING WORK	165.68	SQFT	40.85	6767.99	40	
2	LABOUR FOR WATERPROOFING (SQFT)	103.00	3QF1	40.85	0707.99	18	-
	1ST FLOOR SHOP NO 04 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	402.47	SQFT	40.85	16441.06	18	
3	1ST FLOOR SHOP NO 04 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	70.95	RFT	21.20	1504.14	18	
4	1ST FLOOR SHOP NO 04 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	2.00	NOS	1200.00	2400.00	18	_
5	2ND FLOOR SHOP NO 01 WATERPROOFING						
	WORK LABOR FOR BBCC (NOS)	2.00	NOS	1200.00	2400.00	18	
6	2ND FLOOR SHOP NO 01 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	70.95	RFT	21.20	1504.14	18	
7	2ND FLOOR SHOP NO 01 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	402.47	SQFT	40.85	16441.06	18	
8	2ND FLOOR SHOP NO 02 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
9	2ND FLOOR SHOP NO 02 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	-
0	2ND FLOOR SHOP NO 02 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

1	2ND FLOOR SHOP NO 03 WATERPROOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
<u>.</u>	2ND FLOOR SHOP NO 03 WATERPROOFING		1103	1200.00	1200.00		-
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
3	2ND FLOOR SHOP NO 03 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
1	2ND FLOOR SHOP NO 04 WATERPROOFING						-
	WORK LABOUR FOR WATERPROOFING (SQFT)	402.47	SQFT	40.85	16441.06	18	
5	2ND FLOOR SHOP NO 04 WATERPROOFING	14-11	<u> </u>	-10,00	101	• =	-
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	70.95	RFT	21.20	1504.14	18	-
6	2ND FLOOR SHOP NO 04 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	2.00	NOS	1200.00	2400.00	18	
7	3RD FLOOR OFFICE NO 01 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
8	3RD FLOOR OFFICE NO 01 WATERPOOFING			1200,00		-	-
	WORK						
_	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	-
9	3RD FLOOR OFFICE NO 01 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
0	3RD FLOOR OFFICE NO 02 WATERPROOFING						-
	WORK LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
1	3RD FLOOR OFFICE NO 02 WATERPROOFING				0220.00		
	WORK						
_	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	-
2	3RD FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
3	3RD FLOOR OFFICE NO 03 WATERPROOFING						•
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
4	3RD FLOOR OFFICE NO 03 WATERPROOFING		1103	1200.00	1200.00		
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
5	3RD FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
6	3RD FLOOR OFFICE NO 04 WATERPOOFING						
	WORK LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
.7	3RD FLOOR OFFICE NO 04 WATERPOOFING	105.00	<u> </u>	40.03	0/0/.77		
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	,
8	3RD FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

19	3RD FLOOR OFFICE NO 05 WATERPOOFING						
	WORK	4.00	NOS	1000.00	1200.00	40	
0	LABOR FOR BBCC (NOS) 3RD FLOOR OFFICE NO 05 WATERPOOFING	1.00	NOS	1200.00	1200.00	18	
•	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
1	3RD FLOOR OFFICE NO 05 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
2	3RD FLOOR OFFICE NO 06 WATERPROOFING						
	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	_
53	3RD FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
4	3RD FLOOR OFFICE NO 06 WATERPROOFING						
	WORK	4.00			4000.00		
55	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
))	3RD FLOOR OFFICE NO 07 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
56	3RD FLOOR OFFICE NO 07 WATERPROOFING						
	WORK	3E 49	DET	24.20	752.07	40	
57	LABOR FOR JOINT TREATMENT(RFT) 3RD FLOOR OFFICE NO 07 WATERPROOFING	35.48	RFT	21.20	752.07	18	_
,,	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
58	3RD FLOOR OFFICE NO 08 WATERPOOFING						
	WORK LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
59	3RD FLOOR OFFICE NO 08 WATERPOOFING	103.00	JQI I	40.03	0/0/.//	- 10	
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
60	3RD FLOOR OFFICE NO 08 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
51	4TH FLOOR OFFICE NO 01 WATERPOOFING	11.00		1200,00	1200.00		
	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
52	4TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21,20	599.56	18	
53	4TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
54	4TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
55	4TH FLOOR OFFICE NO 02 WATERPROOFING			<u> </u>			
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
66	4TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

7	4TH FLOOR OFFICE NO 03 WATERPROOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
8	4TH FLOOR OFFICE NO 03 WATERPROOFING WORK						_
	LABOR FOR JOINT TREATMENT(RFT)	34.00	RFT	21.20	720.80	18	
)	4TH FLOOR OFFICE NO 03 WATERPROOFING						
	WORK LABOUR FOR WATERPROOFING (SQFT)	150.00	SQFT	40.85	6127.50	18	
	4TH FLOOR OFFICE NO 03 WATERPROOFING	150.00	3QF1	40.85	6127.30		-
,	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	1.48	RFT	21.20	31.27	18	
1	4TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	51.24	SQFT	40.85	2093.03	18	_
2	4TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
3	4TH FLOOR OFFICE NO 04 WATERPOOFING						
	WORK LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21,20	602.82	18	
1	4TH FLOOR OFFICE NO 04 WATERPOOFING	20.77	IM I	£1,£V	002.02		_
	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
5	4TH FLOOR OFFICE NO 05 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
6	4TH FLOOR OFFICE NO 05 WATERPOOFING WORK						-
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
7	4TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
8	4TH FLOOR OFFICE NO 06 WATERPROOFING						-
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	2.48	RFT	21.20	52.47	18	_
9	4TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	150.00	SQFT	40.85	6127.50	18	_
0	4TH FLOOR OFFICE NO 06 WATERPROOFING						•
	WORK LABOR FOR JOINT TREATMENT(RFT)	33.00	RFT	21,20	699.60	18	
1	4TH FLOOR OFFICE NO 06 WATERPROOFING	33.00	RΓI	Z 1, ZU	U 0. 660	18	-
	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
2	4TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	51.24	SQFT	40.85	2093.03	18	_
3	4TH FLOOR OFFICE NO 07 WATERPROOFING WORK	F. 0.		40.05	2002 02		
	LABOUR FOR WATERPROOFING (SQFT)	51.24	SQFT	40.85	2093.03	18	_
4	4TH FLOOR OFFICE NO 07 WATERPROOFING WORK						

85	4TH FLOOR OFFICE NO 07 WATERPROOFING						
	WORK LABOR FOR JOINT TREATMENT(RFT)	33.00	RFT	21.20	699.60	18	
6	4TH FLOOR OFFICE NO 07 WATERPROOFING						_
	WORK LABOUR FOR WATERPROOFING (SQFT)	150.00	SQFT	40.85	6127.50	18	
7	4TH FLOOR OFFICE NO 07 WATERPROOFING						-
	WORK	2 42		1 1 2 5			
_	LABOR FOR JOINT TREATMENT(RFT)	2.48	RFT	21.20	52.47	18	-
8	4TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
9	4TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	_
0	4TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	-
91	5TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
92	5TH FLOOR OFFICE NO 01 WATERPOOFING		100 .	<u>* · · · - · </u>			
	WORK				_		
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	-
93	5TH FLOOR OFFICE NO 01 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
94	5TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
95	5TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
96	5TH FLOOR OFFICE NO 02 WATERPROOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
97	5TH FLOOR OFFICE NO 03 WATERPROOFING			.20,00			
	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
98	5TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
99	5TH FLOOR OFFICE NO 03 WATERPROOFING						
	WORK LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
00	5TH FLOOR OFFICE NO 04 WATERPOOFING	201.27	3Qi i	40.03	0220.33		
50	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
01	5TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
02	5TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

03	5TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
04	5TH FLOOR OFFICE NO 05 WATERPOOFING						_
	WORK LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
5	5TH FLOOR OFFICE NO 05 WATERPOOFING				<u> </u>		-
	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
6	5TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	_
)7	5TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	_
8	5TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
)9	5TH FLOOR OFFICE NO 07 WATERPROOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
10	5TH FLOOR OFFICE NO 07 WATERPROOFING						
	WORK	25.40	DET	24.22	752.07	40	
11	LABOR FOR JOINT TREATMENT(RFT) 5TH FLOOR OFFICE NO 07 WATERPROOFING	35.48	RFT	21.20	752.07	18	-
	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
12	5TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
13	5TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
14	5TH FLOOR OFFICE NO 08 WATERPOOFING						
	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
15	6TH FLOOR OFFICE NO 01 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
16	6TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
17	6TH FLOOR OFFICE NO 01 WATERPOOFING	1.00	1103	1200.00	1200.00		
	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
18	6TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
19	6TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
20	6TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

21	6TH FLOOR OFFICE NO 03 WATERPROOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
22	6TH FLOOR OFFICE NO 03 WATERPROOFING						_
	WORK LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
3	6TH FLOOR OFFICE NO 03 WATERPROOFING						-
	WORK	201 24	COET	40.05	9220 52	40	
4	LABOUR FOR WATERPROOFING (SQFT) 6TH FLOOR OFFICE NO 04 WATERPOOFING	201.24	SQFT	40.85	8220.53	18	_
4	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
.5	6TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	_
26	6TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
27	6TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
28	6TH FLOOR OFFICE NO 05 WATERPOOFING	1.00	1102	1200.00	1200.00		
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
29	6TH FLOOR OFFICE NO 05 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
30	6TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	_
31	6TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
32	6TH FLOOR OFFICE NO 06 WATERPROOFING						•
	WORK	1.00	NOC	4200.00	1200 00	40	
33	LABOR FOR BBCC (NOS) 6TH FLOOR OFFICE NO 07 WATERPROOFING	1.00	NOS	1200.00	1200.00	18	
33	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
34	6TH FLOOR OFFICE NO 07 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
35	6TH FLOOR OFFICE NO 07 WATERPROOFING						,
	WORK LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
36	6TH FLOOR OFFICE NO 08 WATERPOOFING	201,24	JŲF I	40.65	0220.33	10	,
50	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
37	6TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
38	6TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

139	7TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
40	7TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
1 1	7TH FLOOR OFFICE NO 01 WATERPOOFING		****				_
	WORK				:=:= 00		
_	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
12	7TH FLOOR OFFICE NO 02 WATERPROOFING WORK		_				
. _	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	_
43	7TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
1.4	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	_
44	7TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
45	7TH FLOOR OFFICE NO 03 WATERPROOFING		_			_	
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
46	7TH FLOOR OFFICE NO 03 WATERPROOFING		1100	1200,00	1		_
•	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	_
147	7TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
148	7TH FLOOR OFFICE NO 04 WATERPOOFING WORK						-
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
49	7TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	_
150	7TH FLOOR OFFICE NO 04 WATERPOOFING						•
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
151	7TH FLOOR OFFICE NO 05 WATERPOOFING			.20,00	.=		-
	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	-
152	7TH FLOOR OFFICE NO 05 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
153	7TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK	145 68	COET	40.95	4747 00	1Ω	
154	TH FLOOR OFFICE NO 06 WATERPROOFING	165.68	SQFT	40.85	6767.99	18	_
J .	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	_
155	7TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
156	7TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

157	7TH FLOOR OFFICE NO 07 WATERPROOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
58	7TH FLOOR OFFICE NO 07 WATERPROOFING		1103	1200,00	1200.00		_
	WORK	25 40	DET	24.20	752.07	40	
59	TH FLOOR OFFICE NO 07 WATERPROOFING	35.48	RFT	21.20	752.07	18	_
7	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	_
0	7TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	-
51	7TH FLOOR OFFICE NO 08 WATERPOOFING WORK	20.20	DET	04.00	500.54	10	
62	TH FLOOR OFFICE NO 08 WATERPOOFING	28.28	RFT	21.20	599.56	18	-
JZ	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
63	8TH FLOOR OFFICE NO 01 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
64	8TH FLOOR OFFICE NO 01 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	-
65	8TH FLOOR OFFICE NO 01 WATERPOOFING WORK	445.40	50 FT	40.05	(7/7.00		
66	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	-
00	8TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
67	8TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
68	8TH FLOOR OFFICE NO 02 WATERPROOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
69	8TH FLOOR OFFICE NO 03 WATERPROOFING						-
	WORK						
70	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	-
70	8TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
71	8TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
72	8TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	-
73	8TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
<u>.</u> .	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	-
74	8TH FLOOR OFFICE NO 04 WATERPOOFING WORK	4.00	NOC	4202.00	4200.00	4.5	
174		1.00	NOS	1200.00		1200.00	1200.00 18

75	8TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
76	8TH FLOOR OFFICE NO 05 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
7	8TH FLOOR OFFICE NO 05 WATERPOOFING						-
	WORK	445 40	COET	40 0E	4747.00	40	
'8	LABOUR FOR WATERPROOFING (SQFT) 8TH FLOOR OFFICE NO 06 WATERPROOFING	165.68	SQFT	40.85	6767.99	18	_
0	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	-
79	8TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
90	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	-
80	8TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
81	8TH FLOOR OFFICE NO 07 WATERPROOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
82	8TH FLOOR OFFICE NO 07 WATERPROOFING	1.00	1103	1200,00	1200.00		
-	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
83	8TH FLOOR OFFICE NO 07 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
84	8TH FLOOR OFFICE NO 08 WATERPOOFING WORK						•
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
85	8TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
86	8TH FLOOR OFFICE NO 08 WATERPOOFING						•
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
87	9TH FLOOR OFFICE NO 06 WATERPROOFING	1.00	1103	1200,00	1200.00		
	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
88	9TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	363.52	SQFT	40.85	14849.67	18	
89	9TH FLOOR OFFICE NO 06 WATERPROOFING WORK						•
	LABOR FOR JOINT TREATMENT(RFT)	54.27	RFT	21.20	1150.61	18	
90	9TH FLOOR OFFICE NO 07 WATERPROOFING WORK						•
	LABOR FOR JOINT TREATMENT(RFT)	54.27	RFT	21.20	1150.61	18	_
91	9TH FLOOR OFFICE NO 07 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	363.52	SQFT	40.85	14849.67	18	
92	9TH FLOOR OFFICE NO 07 WATERPROOFING WORK						,
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

93	10TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
94	10TH FLOOR OFFICE NO 01 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
95	10TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK						
01	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
96	10TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
97	10TH FLOOR OFFICE NO 02						
	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	_
98	10TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
99	10TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
.00	10TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
01	10TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
.02	10TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
.03	10TH FLOOR OFFICE NO 04 WATERPOOFING						
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
.04	10TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
.05	10TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK						
•	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
.06	10TH FLOOR OFFICE NO 05 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
.07	10TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
80	10TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
.09	10TH FLOOR OFFICE NO 06		-				
	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	_
10	10TH FLOOR OFFICE NO 06						
	WATERPROOFING WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

.11	10TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
12	10TH FLOOR OFFICE NO 07	1.00	CON	1200.00	1200.00	10	_
	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
13	10TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
14	10TH FLOOR OFFICE NO 08 WATERPOOFING	201.24	JQI I	40.03	0220.55	- 10	_
•	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
15	10TH FLOOR OFFICE NO 08 WATERPOOFING						
	WORK	28.28	RFT	21,20	599.56	18	
16	LABOR FOR JOINT TREATMENT(RFT) 10TH FLOOR OFFICE NO 08 WATERPOOFING	20.20	KFI	21.20	399.30	10	_
.0	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
17	11TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK	28.28	RFT	21.20	599.56	18	
18	11TH FLOOR OFFICE NO 01 WATERPOOFING	20.20	KFI	21.20	399.30	10	_
.10	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
19	11TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
20	11TH FLOOR OFFICE NO 02	103.00	JQI I	40.63	0707.77	10	-
-20	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
21	11TH FLOOR OFFICE NO 02						
	WATERPROOFING WORK	35.48	DET	21,20	752.07	10	
.22	11TH FLOOR OFFICE NO 02	33.40	RFT	21.20	732.07	18	-
LL	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
23	11TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK	1.00	NOS	1200.00	1200.00	40	
24	11TH FLOOR OFFICE NO 03	1.00	1103	1200.00	1200.00	18	-
.47	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
25	11TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK	204.24	COET	40 9E	9220 52	40	
.26	11TH FLOOR OFFICE NO 04 WATERPOOFING	201.24	SQFT	40.85	8220.53	18	_
.20	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
27	11TH FLOOR OFFICE NO 04 WATERPOOFING						
	WORK	20 44	DET	24.20	402.92	40	
28	11TH FLOOR OFFICE NO 04 WATERPOOFING	28.44	RFT	21.20	602.82	18	-
20	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

229	11TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
230	11TH FLOOR OFFICE NO 05 WATERPOOFING WORK						
_	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
231	11TH FLOOR OFFICE NO 05 WATERPOOFING						_
	WORK LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
232	11TH FLOOR OFFICE NO 06	103.00	JQI I	40.03	0/0/.//	- 10	_
.52	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
233	11TH FLOOR OFFICE NO 06						
	WATERPROOFING WORK LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21,20	752.07	18	
234	11TH FLOOR OFFICE NO 06	33.40	KFI	21.20	732.07	10	_
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
235	11TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
236	11TH FLOOR OFFICE NO 07	1.00	1403	1200,00	1200.00	10	-
.50	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
237	11TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK	201.24	SQFT	40.85	8220.53	18	
238	11TH FLOOR OFFICE NO 08 WATERPOOFING	201.24	ا به د	1 0.03	0220.33	10	-
	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
239	11TH FLOOR OFFICE NO 08 WATERPOOFING						
	WORK LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21,20	599.56	18	
240	11TH FLOOR OFFICE NO 08 WATERPOOFING	20.20	IXI I	21.20	377.30	- 10	-
. 10	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
241	12TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
242	12TH FLOOR OFFICE NO 01 WATERPOOFING	20.20	INI I	21,20	377.30	10	-
· ·-	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
243	12TH FLOOR OFFICE NO 01 WATERPOOFING						•
	WORK LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
244	12TH FLOOR OFFICE NO 02	103.00	ا ایکد	70.03	0/0/.77	10	-
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
245	12TH FLOOR OFFICE NO 02						
	WATERPROOFING WORK LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21,20	752.07	18	
246	12TH FLOOR OFFICE NO 02	33.40	INI I	21,20	732.07	10	-
. 10	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

247	12TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK				1000.00		
40	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
48	12TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
49	12TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
250	12TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
251	12TH FLOOR OFFICE NO 04 WATERPOOFING						
	WORK	28.44	DET	21,20	602.82	40	
252	LABOR FOR JOINT TREATMENT(RFT) 12TH FLOOR OFFICE NO 04 WATERPOOFING	28.44	RFT	21.20	602.82	18	_
LJZ	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
253	12TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK	1.00	NOS	1200.00	1200.00	10	
254	LABOR FOR BBCC (NOS) 12TH FLOOR OFFICE NO 05 WATERPOOFING	1.00	NOS	1200.00	1200.00	18	
2J 4	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
255	12TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK	165.68	COET	40.85	6767.99	40	
256	LABOUR FOR WATERPROOFING (SQFT) 12TH FLOOR OFFICE NO 06	100.00	SQFT	40.65	0/0/.99	18	
230	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
257	12TH FLOOR OFFICE NO 06						
	WATERPROOFING WORK	3F 40	DET	24.20	752.07	40	
258	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
236	12TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
259	12TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK	4.00	NOC	1200.00	1200.00	40	
260	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
200	12TH FLOOR OFFICE NO 07 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
261	12TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK	204.24	COTT	40.05	0220 52	40	
262	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
LUZ	12TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
263	12TH FLOOR OFFICE NO 08 WATERPOOFING						
	WORK	20.22	DET	24.20	E00 E4	40	
264	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
264	12TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

265	13TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK	22.20		21.00	500 57	40	
44	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	_
266	13TH FLOOR OFFICE NO 01 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
267	13TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK	445.40	COET	40.0E	4747.00	40	
268	13TH FLOOR OFFICE NO 02	165.68	SQFT	40.85	6767.99	18	_
.00	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
269	13TH FLOOR OFFICE NO 02						_
	WATERPROOFING WORK	25.40	DET	24.20	752.07	40	
270	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	-
.70	13TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
271	13TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK	4.00	NOC	1000 00	4200.00	40	
172	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
272	13TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
273	13TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK	204.24	COFT	40.05	0220 52	40	
274	13TH FLOOR OFFICE NO 04 WATERPOOFING	201.24	SQFT	40.85	8220.53	18	_
./4	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
275	13TH FLOOR OFFICE NO 04 WATERPOOFING						
	WORK	20.44	DET	24.20	402.82	40	
276	LABOR FOR JOINT TREATMENT(RFT) 13TH FLOOR OFFICE NO 04 WATERPOOFING	28.44	RFT	21.20	602.82	18	_
.70	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
277	13TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK	4.00	NOS	1200 00	1200 00	4.0	
278	LABOR FOR BBCC (NOS) 13TH FLOOR OFFICE NO 05 WATERPOOFING	1.00	NOS	1200.00	1200.00	18	_
.70	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
79	13TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK	4/5 /0	COET	40 OF	47/7 00	40	
280	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
.00	13TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
281	13TH FLOOR OFFICE NO 06						
	WATERPROOFING WORK	3F 40	DET	24.20	752.07	40	
282	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	-
.02	13TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

as p	per the instruction given by our site incharge.						
283	13TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK	4.00		1222.00	1222.00	40	
224	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
284	13TH FLOOR OFFICE NO 07 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
285	13TH FLOOR OFFICE NO 07			-		-	
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
286	13TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
287	13TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
288	13TH FLOOR OFFICE NO 08 WATERPOOFING WORK					_	_
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
289	14TH FLOOR OFFICE NO 01 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	_
290	14TH FLOOR OFFICE NO 01 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
291	14TH FLOOR OFFICE NO 01 WATERPOOFING WORK				(T/T 00		
202	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
292	14TH FLOOR OFFICE NO 02 WATERPROOFING WORK				2000 50		
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
293	14TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21,20	752.07	18	
294	14TH FLOOR OFFICE NO 02						
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
295	14TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK		NCC	4200.00	1000.00	4.	
201	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
296	14TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
297	14TH FLOOR OFFICE NO 03	23.10					
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
298	14TH FLOOR OFFICE NO 04 WATERPOOFING						
	WORK	.,		40.55	, - ,-		
255	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
299	14TH FLOOR OFFICE NO 04 WATERPOOFING						
	WORK LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
300	14TH FLOOR OFFICE NO 04 WATERPOOFING				-		
	WORK						

01	14TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK	4.00	VIQC	1000.00	4200.00	40	
02	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
UZ	14TH FLOOR OFFICE NO 05 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
03	14TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
)4	14TH FLOOR OFFICE NO 06	103.00	عرب ا	70.03	0/0/.//		_
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	_
5	14TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
6	14TH FLOOR OFFICE NO 06						-
	WATERPROOFING WORK						
7	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
7	14TH FLOOR OFFICE NO 07 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
)8	14TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK	35.48	RFT	21.20	752.07	18	
)9	LABOR FOR JOINT TREATMENT(RFT) 14TH FLOOR OFFICE NO 07	33.40	KFI	21.20	732.07	10	-
,,	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	_
10	14TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
11	14TH FLOOR OFFICE NO 08 WATERPOOFING						-
	WORK						
12	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	_
12	14TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
13	15TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
14	15TH FLOOR OFFICE NO 01 WATERPOOFING	20.20	IXI I	21,20	377.30		-
	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
15	15TH FLOOR OFFICE NO 01 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
16	15TH FLOOR OFFICE NO 02						-
	WATERPROOFING WORK						
17	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	_
17	15TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
18	15TH FLOOR OFFICE NO 02						
	WATERPROOFING WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

	have pleasure in placing with you our Work order for the instruction given by our site incharge.	ie rottowing conti	act killuly 6	execute the work			
319	15TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	9
320	15TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
321	15TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
322	15TH FLOOR OFFICE NO 04 WATERPOOFING	201.27	ا بایکر	40.05	0220.33	10	_
322	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
323	15TH FLOOR OFFICE NO 04 WATERPOOFING						
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	_
324	15TH FLOOR OFFICE NO 04 WATERPOOFING						
	WORK	1 00	NOC	4200.00	1200 00	40	
225	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
325	15TH FLOOR OFFICE NO 05 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
326	15TH FLOOR OFFICE NO 05 WATERPOOFING						_
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	_
327	15TH FLOOR OFFICE NO 05 WATERPOOFING						_
	WORK		_				
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
328	15TH FLOOR OFFICE NO 06						
	WATERPROOFING WORK LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
329	15TH FLOOR OFFICE NO 06				0220.00		_
J.,	WATERPROOFING WORK						
_	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	_
330	15TH FLOOR OFFICE NO 06						_
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
331	15TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK	1 00	1100	1200.00	4300 00	4 Q	
222	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
332	15TH FLOOR OFFICE NO 07 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
333	15TH FLOOR OFFICE NO 07	· · · · · · · · · · · · · · · · · · ·					_
•	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	_
334	15TH FLOOR OFFICE NO 08 WATERPOOFING						_
	WORK		_	_			
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
335	15TH FLOOR OFFICE NO 08 WATERPOOFING						
	WORK LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
336		20.20	KF I	21.20	J77.JU	10	-
330	15TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	11014.	1.00	NOS	1200.00	1200.00	18	

	have pleasure in placing with you our Work order for the instruction given by our site incharge.		-				
337	16TH FLOOR OFFICE NO 01 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
338	16TH FLOOR OFFICE NO 01 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
339	16TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
340	16TH FLOOR OFFICE NO 02						
	WATERPROOFING WORK LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
341	16TH FLOOR OFFICE NO 02						_
J-11	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
342	16TH FLOOR OFFICE NO 02						
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
343	16TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK	1.00	NOC	4200.00	1200 00	10	
244	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
344	16TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
345	16TH FLOOR OFFICE NO 03						_
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
346	16TH FLOOR OFFICE NO 04 WATERPOOFING WORK						_
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
347	16TH FLOOR OFFICE NO 04 WATERPOOFING WORK						_
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
348	16TH FLOOR OFFICE NO 04 WATERPOOFING						_
	WORK	4.00			1000.00		
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
349	16TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200,00	1200.00	18	
350	16TH FLOOR OFFICE NO 05 WATERPOOFING						_
-	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	_
351	16TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
352	16TH FLOOR OFFICE NO 06						
	WATERPROOFING WORK LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
353	16TH FLOOR OFFICE NO 06	201.21	ا بیکرد		0220.33	- 10	_
333	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
354	16TH FLOOR OFFICE NO 06						_
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

	have pleasure in placing with you our Work order for the instruction given by our site incharge.	5					
355	16TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
356	16TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
357	16TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
358	16TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
359	16TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
360	16TH FLOOR OFFICE NO 08 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	9
361	17TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	
362	17TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
363	17TH FLOOR OFFICE NO 01 WATERPOOFING			<u>_</u>			
	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
364	17TH FLOOR OFFICE NO 02						
	WATERPROOFING WORK LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
365	17TH FLOOR OFFICE NO 02	201.21	- JQ: 1	-10,03	0220.33	10	
	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
366	17TH FLOOR OFFICE NO 02						
	WATERPROOFING WORK	4.00	NOC	4200.00	4200.00	40	
2/7	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
367	17TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
368	17TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
369	17TH FLOOR OFFICE NO 03						
	WATERPROOFING WORK LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
370	17TH FLOOR OFFICE NO 04 WATERPOOFING	201.21	30.1	10.00	0220.33		
	WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
371	17TH FLOOR OFFICE NO 04 WATERPOOFING						
	WORK	20.44	DET	24.20	(02.02	40	
272	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	
372	17TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)		NOS				

373	17TH FLOOR OFFICE NO 05 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
374	17TH FLOOR OFFICE NO 05 WATERPOOFING	1.00	NOS	1200.00	1200.00	10	_
	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	_
375	17TH FLOOR OFFICE NO 05 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
376	17TH FLOOR OFFICE NO 06						
	WATERPROOFING WORK	201.24	SQFT	40.85	8220.53	18	
377	17TH FLOOR OFFICE NO 06	201.24	JQI I	40.83	6220.33		-
	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	_
378	17TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
379	17TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK	1.00	NOS	1200.00	1200.00	18	
380	LABOR FOR BBCC (NOS) 17TH FLOOR OFFICE NO 07	1.00	NOS	1200.00	1200.00	10	_
300	WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	_
381	17TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
382	17TH FLOOR OFFICE NO 08 WATERPOOFING						_
	WORK	445.40	COFT	40.05	(7(7.00	40	
383	17TH FLOOR OFFICE NO 08 WATERPOOFING	165.68	SQFT	40.85	6767.99	18	_
303	WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	_
384	17TH FLOOR OFFICE NO 08 WATERPOOFING						
	WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
385	18TH FLOOR OFFICE NO 01 WATERPOOFING						-
	WORK	20.20	DET	24.20	F00 F4	40	
386	LABOR FOR JOINT TREATMENT(RFT) 18TH FLOOR OFFICE NO 01 WATERPOOFING	28.28	RFT	21.20	599.56	18	_
300	WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
387	18TH FLOOR OFFICE NO 01 WATERPOOFING						
	WORK LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
388	18TH FLOOR OFFICE NO 02		<u> </u>				_
	WATERPROOFING WORK				0000		
290	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	_
389	18TH FLOOR OFFICE NO 02 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
390	18TH FLOOR OFFICE NO 02						
	WATERPROOFING WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

391	18TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
392	18TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	
393	18TH FLOOR OFFICE NO 03 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	_
394	18TH FLOOR OFFICE NO 04 WATERPOOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	_
395	18TH FLOOR OFFICE NO 04 WATERPOOFING WORK	22.11			400.00		
	LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21.20	602.82	18	_
396	18TH FLOOR OFFICE NO 04 WATERPOOFING WORK				4000.00		
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
397	18TH FLOOR OFFICE NO 05 WATERPOOFING WORK LABOR FOR BBCC (NOS)	1.00	NOS	1200,00	1200.00	18	
398	, ,	1.00	1103	1200,00	1200.00	10	_
3 70	18TH FLOOR OFFICE NO 05 WATERPOOFING WORK LABOR FOR JOINT TREATMENT(RFT)	28.44	RFT	21,20	602.82	18	
399	18TH FLOOR OFFICE NO 05 WATERPOOFING	20.11		21,20	002.02		-
) 7 7	WORK LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40,85	6767.99	18	
400	18TH FLOOR OFFICE NO 06			<u> </u>			-
	WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
401	18TH FLOOR OFFICE NO 06						
	WATERPROOFING WORK	25.40	DET.	04.00	752.07	40	
400	LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21.20	752.07	18	_
402	18TH FLOOR OFFICE NO 06 WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	
403	18TH FLOOR OFFICE NO 07						-
	WATERPROOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	_
404	18TH FLOOR OFFICE NO 07						
	WATERPROOFING WORK LABOR FOR JOINT TREATMENT(RFT)	35.48	RFT	21,20	752.07	18	
405	. ,	33.40	KFI	21,20	732.07	10	_
.03	18TH FLOOR OFFICE NO 07 WATERPROOFING WORK						
	LABOUR FOR WATERPROOFING (SQFT)	201.24	SQFT	40.85	8220.53	18	
406	18TH FLOOR OFFICE NO 08 WATERPOOFING WORK						_
	LABOUR FOR WATERPROOFING (SQFT)	165.68	SQFT	40.85	6767.99	18	
407	18TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOR FOR JOINT TREATMENT(RFT)	28.28	RFT	21.20	599.56	18	_
108	18TH FLOOR OFFICE NO 08 WATERPOOFING WORK						
	LABOR FOR BBCC (NOS)	1.00	NOS	1200.00	1200.00	18	

We have pleasure in placing with you our Work order for the following contract kindly execu as per the instruction given by our site incharge.	ite the work	
are part and measurement green by our order measurement.	Total GST (B)	236170.98
	Total (A + B)	1548229.10

Terms & Conditions

SAFETY TERMS

- 1) Work Compensation (WC) Policy is a must for every contractor.
- 2) Required all their laborers Aadhar card copy and Passport size Photo.
- 3) All PPES in Contractor Scope.
- 4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.
- 5) Every Quarterly they must submit a service report of their respective machines to the site incharge.
- 6) Contractor has to maintain enough lighting during night work at site.
- 7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms
- * All responsibilities of goods during transportation and unloding at site by supplier and vendors.
- * Please submit your Bill/invoice along with delivery challan and PO copy in favour of Neptune Realty Pvt. Ltd.

At project site office officialy.

- * Biling amount should not exceed the rate and total value mentioned in this WO.
- * Failure to comply with specification, terms and conditions of this order or accepted delivery. schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

For NEPTUNE REALTY PVT. LTD.	
A the dead Simulation	
Authorized Signatory	